AN
40w

L (from previous page)

il Store N1 in Q7 |
| Unit number (C6)>17% | YES 3 RI13(p. 30)
' ife
: Z
i Petch current descriptor of unit (&/DESC-1/26)
l -
; N1<0 (i.e. is unit not in list)? | >
|
NO
i Petch current descriptor again and extract !
| type mumber (D30-41, binary coded octal) and ,
; status letter (D42-47) ,
| |
NO | Is statﬁs e |
% (Leave copy of N1) | o
YES :
i Store/RW89-1/ in RTLS !
i Put -1 in N1
RAU3 (p.31)
(Removes unit from list by replacing current
{ descriptor by -1 and uvses N2 to lock for a
i U unit of same type. If found it becomes N N
and new descriptor is typed; otherwise a 4
single LM is typed. N1 and N2 are erased)
RW394 Is unit tﬁbe 10 12 NO
i (Leave copy of N1)
YES
191 - e
BT “rase 71 1, 1B [Ts status "7
L—«——W«———~ | (Leave copy of N1)
: : T
NO o6 (unit no‘j = RPRT? |
l 0
YES ERAG (p.30)
RS ¥4
Clear RPRT |
| J
T |
RWB9 Transfer Q7 to descriptor list ;

(/7B

SC-1/416) 5

leaving copy in N1

A

el
TTR<07

B
n

i

i

{

i Fetch C6 (unit no.

to 1M

e

Set 17340 in N1 (brick indicator,

shifted down 33 places, for brick 3)

|
ald
[ RDMS (pe32) )
[ ’; 2
RW9 (p.19)




41~

RTWM

-

RFN (p.16) (Fetch address)

2

L ERAG (p.30)

iSet D34 in N1 and shift up by C5 (terminating characterjj
J

|

peyi
’N1<o (i.€e C5=34=letter B)?

NO

YES

)

Store N1 in M7, setting C7=0, I7=1

N

RFN (p,16) (Fetch number of words)

$ 2

Store N1 in C7, leaving copy in N1

.Replace N1 by 1

\

| Ada M7 (address), subtract store size of machine (SIZE)

RPM2

/.

N1>0 (are too many

words asked for)?

YES 5 BW13 (pe30)

NO

Clear Q6

A\
Set zero in N2; fetch M7 (first address) to N1

a4

b

FRB 1 with radices 4,/8/8/1/4/8/8/1;
add 20 20 20 00 20 20 20 00 (syllabic octal)

RFM3

S
i C6=0 (end of word)? | YES
NO
N1 and N2 |, | Add 02 (CRLF) to N1

!Interchange

Set 3 (punch number) in C5, (RBUT+31) in I5

RTN1 (p.8) (punches N2,

leaves N1 in RBUF+30)

iFetch RBUF+30 (remaining syllables for conversion)

OIS,

|

C6=0? | YBS

e

Erase N1 -

S
NO

P
>

)
i CT7=0%

YES

NO

{ Set 3 in C6 J'

L—

L -
Set zero in N1 !
SHLD+16

Fetch next word (MOMTQ)

b

AN

{ Subtract 1 from C6

Add RPBA (program's
base address) to N1

7RW9 (p.19)



.

SUBROUTINE RNOL (CHECKS STORE LIMIT IN LESS SIGNIFICANT

HALF OF E1 IN B-BLOCK, AMENDS IT IF ZERO)

RNOL

Set number of words available (store size - RPBA) in N1

Set half-length address of D24-47
of E1 (/RPBA+1/L) in 16

Fetch D24-47 of E1 into D24-47 of N1 (MOMU6H; SHL-24)

/.
copy in N1) | NO

l N1=0? (Leave

L
ERASE (Leaves words available in N1)

Store D24-47 of N1 in D24-47
of E1 (Leave copy in N1)

| Round up N1
modulo 32

L

SUBROUTINEG RVPN (VERIFIES THAT FPIRST WORD OF PROGRAIL NALE

(GIVEN IN N1) STARTS 0702--02)

RVPN

A
r 4

| " Set zero in U1
i

Shift up first 3 characters
of N2 into N1 (SHLD 18)

l

v
Shift 111 down cyclicly 6 places to
park 3rd character in DO-5

L

Shift down double length 42 places to get
3rd character in D42-47 of W1 and 1st,
2nd and 4th characters in D30-47 of N2

\
Interchange N1 and N2
Al
YES N1 = 0702027? NO
f
e i iHX1 l

(3rd character now in
D42-47 of N1) EXIT 3 |

Erase N1 |
N2

ald

L_¥EXfT 1

(Number of words allocated now in N1 as a multiple T

of 32). Shift up 9 places, subtract D33 (giving N N1>N2?
In D24-33, where 32 (N+1) is the number of core-store 0 (Erase N2,
words allocated), add base address (RPBA) shifted < leave copy
down 5 places. (N1 is thus now in the correct form of N1) i
for eventual transfer to the BA/NOL register (p.18)). YES T (FATD)

s = ERX1 =
Store N1 in RLIM : l Erase N1
TIT 3 ’ EXIT 1




i
oUTs (RUTY - UT1¢ from psge 29; OUT number now erased)

B | st aere i W oo 3RWI4(p.T1)
L | Nesting store empty? | YES
i J
|0
N
Store U7 in RNPN
(first word of A-block) l
. b3
i Nesting store empty? | YES Fetch RNPN |
Z
NO w3 x
v BW82 gt 50 in W1

(2ne word of a4 - block)

[ RW8 (E%éﬁ)

|
e NV _ 2514 10m -t
'Suﬁéﬁ1inhmm7fr“l “*1hﬂe5)

Set zero im N7 (duﬁmy ending number)j .
and 200 in N2 (terminatlon step 8) § 7 Hiz5 (p.71)

RUT2

{ Set 6 in RTER (ending number)
W/ -~
. 2 i o
{ Nestlng store empty? |-————

No

Set address of B1 (RPBA + 1) in M5 l

-métore D@-23 of N1 (time liuat in secs) 1nHD¢—23'
of B1. (=MB5M@). Leave copy of D@F-47 in N1 §

Sttt e

/ - —
j Petch back D@-23 of & (D24-47 of N1 all zero),

]
-,

TeF
N1/O (1 e. time limit 21 SLC)‘}“QQ—~--——% ?gdlLure 2 l
res v

Fetch E2 (WA'5:0) (first word of ! RW8 (p 20)
_prograil lctntlf1er) {

N

l Dupllc;te N1 l

2
RVPN (p. 42)

2
[~ Erase NW’J

1 ; '
. S N1
‘ RiCTL (p.42) 4 ) _J Set 220 in

1

Set 200 in N1
(failure 24) 7

N

i R
|  (failure 22)
v ‘ |
Set 2 in H2 (ending number) W
and 517 in N1 (teruinator oricxs 1, 2, 3, 4, T, 9) RWS
‘ ’ (p.20)

w23 (5.71)
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RUT 3
Fetch running tiae (RTIM) } RW9 (p.19)
RUT 4 4
Clear ROUT ]
NO
NP  TES
l Nesting store empty?|
e
l_Dupllcat97H1 (tape 1denti£ig£2{
: > y 12
| xID (p. 14) | 5
1
‘ Duplicate U1
P N . [ Erase il
[ﬁCIU (9-1[4)1 - 4 (IJU‘N‘KH)
1 .
« PR
bt 5 Store SHUQ (2/3/(siv)) in Q7 7| set 74 in N1
(from page T4) (Opens firs* subgrogram) (failure 7) €

)

S 1 RV8 (15,2;2!)‘

RMAT (p,27)

N .

Clear SHU |ZERO;=MZNT) PATL
| 1
(Mloses first subpre, Ta (p.20)

i

\'{/
Set - 1 ‘n REDT (in order
to examine tiie other sub-

program alter completing OUT 4)
=

Mo ——1¥8s (OUT 4)

ROUT = g?

S RW58
: (next page)
wo (ouT 14)

]
Store 3x (unit number) (in M6)
in iI7. Uses cubroutine 3XI6

\s
rFetoh TSN ( TaBL - 21/M7) l

~

RW58 (nex- page)



.ﬂ_11'75..

___-lﬂxﬂi__;iNesting stores empty?j YES
VER

f Duplicate I .

 Set 20 in N1

J (failure 2)

RAU (po31, T
e mm e = ] !
i 2 L

J, RW8 (p.20)

T Rpace 104
| Erase Ni !

{ i

J/

RW58,[ INCP (below)
(from previous pase) - T

- T
ir Fetch €6 (allocated unit no.) |__ RW9 (p.19)

SUBROUTIIE INCP (__INSERT BIT I COPY OF CPDAR)

Set 1 in IN1 |

z
| SHLC6 (shifts N1 so that D (47-n)
Eis now set, where n=unit no. in C6)

"OR 111 into RODA f

N
EXIT 1 |
.._--.__r.____.!
i
(RUT6  ——— .
S Neat o atore -7 ? i D
(RUT'? 1 Nesting store empiy* YES
NO
| : . = N
| T1KN1<15% (Leave copy im N1) | 0 .
! J 7
I YIS
i - 1
I By STR; shifts etec. clear D(4‘7-n) } Je
| of RCDPA (n=unit number in 1) | vig Set 30 in N1 !
| las this bit already clear (i.e. was == (failure 3) }
g unit never allocated)? (Unit no. still in N1) 'l ,
o B9 Ri78 Y p. 20)
RIDE (p.32)

—_
r\)'

| RW9JZp.19) rW9 (p.19)
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YES -
FAIL

RUT 8 .' Is NS eupty? ‘
* WO

Store copy of M »
(Q=/4/B) in Q7

]

oLy
O 4 -

N .
| Peten NOL |

[—fetch u7. SHL-5 |
i

SIGN (W1=-1)
if M7 too large)

| L ) NY
l Set M7-17 in I ]

e e S
!
DUP. Store K1
~ in SHU+2

£
:
TSRS NS ¢ SESS—

Decrease N1 by 1. ORGJ

i

‘Fetoh I7. Onoi
Is N1 negative? (i.e, nave any of T
X iy — ) YES
“the following address errors occurred; 3
(1) M7 too large; (2) U7gIT; (3) I7<0) FATIL RTNW

h

]
| BN |
' NO ‘ ey
RTNB e %;t.770 m71;1Z
sdd RPBA to I7 and M7| dl{ile 7))
§

Ri8 (p.2d)

Store copy of Q7 in ROJT

e v o

RTNC - NO N RTND

Lock—=out Q77? .
oc al 7 (next page)
YES

N\

3
Store SHUy (W2/3/(SHU) )in Q7
(Opens first subprogram
i

RiI8 (p.27) to examine v. 2r sub-
prograas and to enter LWk uvefore re—
turning (No return if e.g. TINT A has occurred)

Clear subprogram's first work (=Hg47)
(Closes first suoprogram)

s

[ Restore ROUT in Q7 |




- =
| (from previous page)

RTHD 1 NS
| Set 06 = B-a (SHU+2),

I6=1, M6=absolute first |

| address (I7) (=A+RPBA) |
£

E Fetcin stream numEQEJﬁM¢J6)!

1
L

RTHE

i
!
{

W1=07? Ledveﬁ WO

copy 1n H1 §

A next page)

RTiWR
(next page)

| YES
Ny
| Store W1 in c7 |
e |
[ﬁDupLiCdte 1 (1—/A/B)i
RTWL
! = ? L
YES ;”FEL_TXL___ <
I 1O
r ‘- ‘
| Set C5 to —QEJ
Teten next word of buffer area,
mod1fying Q6 (MAI6QN)
/
RTIN ‘ SILC5; Sifl+42; Diil—42 P
' (Extruct next character from the Left) A
VR ¥ \"'/ ¢ i
_ YES )} 15 cnaracter CRLF (02) or ©Ta3 (04)?
RTNP N Leave character in N1
s ';\ in "(:. 9 l T,
nrafe 1 f ' NO RN
. tW}—Cg—W_’J Al e O N A
Is character il (Zi)?¥~————~3 Is character
et Qéi)?

Teave character in U1}
... - e e e =)
YIS YES l \ NO

RTINS (next page)

i

g
| Zrase 1]

" | 05 = 07 '—??TQ,__,_“_}_}_,?
L”__ﬂ*~fﬂ§§§' o
N

RTNM
“) W1<0? (i.e. is transfer|
- a_query?) ‘
YIS ‘ T Incre:se C5{
o 6
i 4 B _ by
hd Petoh 06022 15522000007
LTHR i.e. " m:" from RuwTil+10 >
Fetch current

(next page)

word from buffer

N
area again (1ig6)

| Transfer Q7 o QB!

| Trauster I5 to 7 |

Store W1 in first word |
tof buser area (=MPMT)|




- ¢ 8 Lol
ijfrom previous page)

s [ N130? (i.e. is transfer|YES
L a message?) ]
NU

o

05=07 (1.c.
last ciaracter of word?)

is semicolon the]

o

YES

| C6=07? (i.e. is
last word ol butfer urea?)j

Sseillcolon in]YES

NO
, Er.se W {4-/&/3)'
RTWT L
N Transfer L7 to il6
sle
Transfer Q7 to Q5
Fetch 06022167122000007, |
3 g1 from Wi T
I i.e. "[q1" from RwTM+17]
Store U1 in first word
of outfer area (=16 )
[, RTQ (p;zlj
1 ];2
®i9 (p.19)
 RINE Erase N2 (Q-/A/B), leaving
(from previous strean number in N1
i 1

page)

RTWR .

Set 730 in Hq
(failure 73) y
(Q-/A/B in N2) e

\L previous
page)

RWS (p.2d)

| RIST (9935)}1
5

N

Store W1 (coded stream nwiber) in C7§

.

Is D44 of N1 zero? (i.e. is strean nuiiber
in range 10-17 or 50-57 (punch streams)?)‘

NO

Feteh last word of
bufier area (MZM7)

(next page)

RTNG Set 740 in W
(failure 74)
Ri8 (p.2d)

YES

RTNX (next page)



XDF 8

-4y -
(from previous page)
Is last character in W1 o Y
| CRLP (g2) or BC (#3)? &
| CRLI ;
NC
1 B ' YES
IIs it @i (75)? 5
10
jare D@-3 zero and D4-31 all set to | YES N
| one? (gap/page change foruat) ' 7
NO

. Set 720 in 1 | ,
(failure 72) | )

1

RW8 (p.2d)

RTNL  Store 47 (block
(frou previous pagéjjparameters) in ROBP

F i
! Set 1 in NTAJ

J |
| SUSP (p.17) | \

RTNF

N N - =% |
771 Petch SHU+3 to W1

(from page 34)

)
. N1£0? (i.e. is OUT 8 |YLS
l s 3 ) 7
| subprogram in use?) |
No

| Store uv..UQ in Q7. Modify Q7
(W7 ¢ ERASE) to give 1/3/(SHU+3)

f (Opens OUT 8 subprograim)

e
EwL8 (p.27) to enter)
' RVR before returning!

)

279 (p.55)




